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REAH)E— 36X 32 115, 200 BEHO— 36X 5 18, 000
____________ + 32 115, 200 — 5 18, 000
BEAE 36X 56 201, 600 B— 36X 2 7,200
____________ + 56 201, 600 - &t 2 7,200
EEYE= 36X 2 7,200 | HE— 36X 11 39, 600
____________ |- 2 7, 200 &t 11 39, 600
A E 36X 7 25,200 | Ak 36X 2 7,200
____________ = 7 25, 200 —— 2 7,200
B — 36X 78 280, 800 C— 36X 16 57, 600
____________ =} 78 280, 800 1 16 57,600
HEEE 36X 10 36, 000 C— 36X 17 61, 200
____________ = 10 36, 000 - 3} 17 61,200
HREE = 36X 33 118, 800
———————————— =1 33 118, 800
REH— 36X 20 72, 000
———————————— =1 20 72, 000
B0 — 36 X 14, 400
____________ 1 14, 400
W= 36 X 10, 800
———————————— 1 3 10, 800
e 36X 16 57, 600
———————————— 1 16 57, 600
=4 36X 33 118, 800
———————————— =1 33 118, 800
#O— 36X 17 61, 200
———————————— = 17 61, 200
T — 36X 12 43, 200
———————————— = 12 43, 200
FER 36X 9 32, 400
———————————— |- 9 32, 400
H— 36X 5 18, 000
———————————— 1 5 18, 000
A F Rigk . 390| MeHk: 1,404,000 | (K)= 390 | ()= 0
\ & F FEL 390 | Mok - 1,404,000 | (CK)= 390 | (/)= 0




